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a) Calculate the value of rms voltage, V1 tms, across the dashed box.

b) Calculate the value of the average power, P, dissipated by the circuitry in the
dashed box.

seln: q) We have <wo circuits in paratiel across
Vg — the 4ksy and everything else. These
circaits may be solved sepzrate . Thus,
the 4k may be ij/tored.

We have a V-~divider

VL,!*MS = -VS . [kfl-—"3k_‘1
jskxz+l|<n—j3l<sz

= 06L0°V, o lka-j3kp
k.

= lo -(1«33) Vg

= |0 —:) 0 vr‘MS

Vi

rmsg

Note : Since oar sodrce (s 3‘:ven in rms,
the value of V, s will be rms.
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\D) CoMPlex power s S=7 -l-:)Q =‘\frm$I[Y‘m$
U(s‘cn? Ohm's Law, we Find T,

V :
L rms
ILFMS:: VL.PMS = VL rms
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Sitnce ILms Ls recLL = EerS‘
So S = -\rL.ms :ﬂ:l. _(IO-J .30> 10 m VA
S = l "J 3 VA
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e power, L, (s the real part
of 3 0 P a
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Note: The umts For £ are Watts,

for @ are VAR, and for S are
VA.




